Create a "Monte Carlo ellipse"

1:=0..100
rnd(5— m) rnd(5— w)
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z rnd (10) yl, = Y2, 2
X:=stack (z,z) Y :=stack (y1,y2) ¢:=27 deg
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Okay, it ain't pretty, but it'l
do for demonstration

Ty 0 = 1NAX (Xr) =4.441
Y
TT i = min (Xr) = —4.429
Yr
T dmax:=match <acrmam ,Xr>0 =190
dmn:=match (mrmin ,Xr)o =24
Yrd = Yrd
f:=atan| ———— | =26.966 deg
Xr LT maz — LV min
Xrr :=Xr -cos (—9) —Y7r «sin (—9) Yrrj ::XTJ' Hoin (_0) 5l YTJ’ NAN (_0)
J J J
major axis: mja:=max (Xrr) —min (Xrr)=9.952 a:=1.1- mja
minor axis: mna:=max (Yrr) —nun (Yrr) =1.875 hi=1.1.0¢
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xzx:=1.1-min (er) ,min (er) ..1.1.-max (er)



xx-sin (9) +Fn (33:1:) < CoS (9)

Tx - sin (9) —Fn (a:x) +COS (9)

xz+cos(0)—Fn(zz)-sin(0) +xr,,4, + 27, +0.25




